é \é\ % % kolme desimaalia, toimintojen jarjestys
A AN AN

Nimi: Paivamaara: Pisteet:
3,9+3,2x 5= 5,9x3,8+4,5=

6-15+5= 6,9x4,2-6,9=

4,2x6,9+2,7= 2,6-20+4 =

6,6x3,6—3,6= 51+20+4 =

6,2x2—-4,1= 6,5x4,5+5,7=

www.snowmath.com


https://www.snowmath.com

%0 7 {
é % % kolme desimaalia, toimintojen jarjestys
A AN AN

Nimi: Paivamaara: Pisteet:
3,9+3,2x5=199 5,9x3,8+4,5=2692

6-15+5=3 6,9 x4,2—-6,9= 2208
4,2x6,9+2,7=131.68 2,6-20+-4=-24

6,6 x3,6—3,6=20.16 5,1+20+4=10.1

6,2x2—-4,1=83 6,5 x4,5+5,7= 3495
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